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 ECO-014  

BACHELOR’S DEGREE PROGRAMME 

BDP (B.Com.) 

Term-End Examination 

June, 2022 

(ELECTIVE COURSE : COMMERCE) 

ECO-014 : ACCOUNTANCY-II 

Time : 2 hours Maximum Marks : 50 

  (Weightage : 70%) 

Note : Attempt any four questions including question  

no. 1 which is compulsory.  

 

1. Attempt any two of the following questions : 7+7 

(a) Explain the importance of Departmental 

Accounts. 

(b) Discuss the nature of Hire Purchase 

Agreement.  

(c) Briefly explain the essential features of 

Partnership. 

(d) State the objectives of Ratio Analysis. 

2. Differentiate between a Company and a 

Partnership Firm. 12 
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3. What is meant by Cash Flow Statement ? 

Explain the steps involved in preparing the Cash 

Flow Statement. 4+8 

4. (a) ‘A’ who holds 100 shares of < 10 each paid 

application money of < 2 per share. The 

amount called on allotment was < 3 per 

share. ‘B’ who holds 150 shares of < 10 

each failed to pay 1st call of < 3 each and 

2nd and final call of < 2 each. All the above 

shares were forfeited after the second call 

and were subsequently reissued for < 7 

fully paid up. Pass the necessary journal 

entries. 

(b) ‘X’ and ‘Y’ are partners sharing profit and 

losses in the ratio of 4 : 3. They admit ‘Z’ as a 

partner. ‘Z’ brings in < 15,000 as his capital 

and the required amount of premium in 

cash. The goodwill of the firm is valued at 

< 28,000. ‘X’ and ‘Y’ withdrew half of their 

share of goodwill. The new profit-sharing 

ratio is 3 : 2 : 1. Pass necessary journal 

entries and calculate the sacrificing ratio. 6+6 
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5. ‘A’ Ltd. purchased a machine on hire purchase 

from ‘Z’ Ltd. on January 1st 2015, paying 

< 8,000 immediately and agreeing to pay  

three annual instalments of < 8,000 each on 

December 31st every year. The cash price of the 

machine is < 29,800 and the vendor charges 

interest @ 5% per annum. Calculate the amount 

of interest paid by the buyer to the seller every 

year. 12 

6. (a) How are branch balances incorporated in 

head office books at the end of accounting 

year ? 

(b) Name the three systems of maintaining the 

accounts of a dependent branch and describe 

how profit is ascertained under each system. 4+8 
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 B©.gr.Amo.-014  

ñZmVH$ Cnm{Y H$m`©H«$_  
Ÿ~r.S>r.nr. (~r.H$m°_.) 

gÌm§V narjm 

OyZ,  2022 

(EopÀN>H$ nmR²>`H«$_ : dm{UÁ`)  

B©.gr.Amo.-014 : boIm{d{Y-II 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

  (Hw$b H$m : 70%) 

 ZmoQ> : {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE {OZ_| go àíZ g§»`m 1 

A{Zdm`© h¡ &  

 

1. {ZåZ{b{IV _| go {H$Ýht Xmo  àíZm| Ho$ CÎma Xr{OE : 7+7 

(H$) {d^mJr` ImVm| H$s Cn`mo{JVm H$s ì`m»`m H$s{OE & 

(I) AdH«$` H$ama H$s àH¥${V H$s MMm© H$s{OE & 

(J) gmPoXmar H$s Amdí`H$ {deofVmAm§o H$s g§jon _| ì`m»`m 

H$s{OE & 

(K) AZwnmV {díbofU Ho$ CÔoí`m| H$m CëboI H$s{OE & 

2. H$ånZr Ed§ gmPoXmar \$_© Ho$ ~rM A§Va ñnîQ> H$s{OE & 12 
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3. amoH$‹S> àdmh {ddaU go Š`m A{^àm` h¡ ? amoH$‹S> àdmh 

{ddaU ~ZmZo _| à`moJ {H$E OmZo dmbo MaUm| H$s ì`m»`m 

H$s{OE & 4+8 

4. (H$) ‘A’ Ho$ nmg < 10 à{V eo`a Ho$ _yë` Ho$ 100 eo`a  

h¢ & CgZo à{V eo`a < 2 AmdoXZ am{e Ho$ ê$n _| {X`m 

h¡ & Am~§Q>Z na à{V eo`a < 3 _m±Jm J`m &  ‘B’ Ho$ 

nmg à{V eo`a < 10 _yë` Ho$ 150 eo`a h¢ & dh à{V 

eo`a àW_ _m±J Ho$ < 3 VWm Xÿgar Am¡a A§{V_ _m±J _| 

< 2 H$m ^wJVmZ Zht H$a gH$m & Xÿgar _m±J Ho$ ~mX 

Cn`©wº$ g^r eo`am| H$mo µOãV H$a {b`m J`m Am¡a ~mX 

_| CÝh| nyU© àXÎm < 7 à{V eo`a Ho$ ê$n _| nwZ{Z©J©{_V 

H$a {X`m J`m & Amdí`H$ OZ©b à{dpîQ>`m± H$s{OE & 

(I) ‘X’ Am¡a ‘Y’ gmPoXma h¢ Omo bm^ Am¡a hm{Z H$mo Amng 

_| 4 : 3 Ho$ AZwnmV _| ~m±Q>Vo h¢ & do ‘Z’ H$mo gmPoXma Ho$ 

ê$n _| àdoe XoVo h¢ & ‘Z’ AnZo {hñgo H$s ny±Or 

< 15,000 Am¡a àr{_`_ H$s Amdí`H$ am{e ZH$X 

bmVm h¡ & \$_© H$s »`m{V H$m _yë`m§H$Z < 28,000 

{H$`m OmVm h¡ & ‘X’ Am¡a ‘Y’ »`m{V Ho$ AnZo AmYo 

{hñgo H$mo {ZH$mb boVo h¢ & Z`m bm^-{d^mOZ AZwnmV 

3 : 2 : 1 h¡ & Amdí`H$ OZ©b à{dpîQ>`m± H$s{OE VWm 

Ë`mJ AZwnmV kmV H$s{OE & 6+6 
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5. ‘A’ {b{_Q>oS> Zo 1 OZdar, 2015 H$mo ‘Z’ {b{_Q>oS> go VwaÝV 

< 8,000 XoH$a EH$ _erZ AdH«$` na IarXr Am¡a 

< 8,000 à{V df© H$s VrZ dm{f©H$ {H$íV| 31 {Xgå~a H$mo 

XoZo H$m H$ama {H$`m & _erZ H$m ZH$X _yë` < 29,800 h¡ 

Am¡a {dH«o$Vm 5% à{V df© H$s Xa go ã`mO boVm h¡ & H«o$Vm 

Ûmam {dH«o$Vm H$mo à{V df© Xr JB© ã`mO H$s am{e H$m 

n[aH$bZ H$s{OE & 12 

6. (H$) boIm df© Ho$ A§V _| ~«m§M eofm| H$m _w»` H$m`m©b` H$s 

nwñVH$m| _| {H$g àH$ma g_mdoeZ {H$`m OmVm h¡ ? 

(I) Am{lV ~«m§M Ho$ boIo aIZo H$s VrZ àUm{b`m| Ho$ Zm_ 

~VmBE Am¡a `h ^r dU©Z H$s{OE {H$ àË`oH$ àUmbr 

Ho$ A§VJ©V bm^ H¡$go kmV {H$`m OmVm h¡ & 4+8 


